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https://www.codecogs.com/eqnedit.php?latex=%5Coverline%7B%5Cvec%7Ba%7D%7D
https://www.codecogs.com/eqnedit.php?latex=%5CLARGE&space;%5Coverline%7B%5Cvec%7Ba%7D%7D&space;=&space;%5Cfrac%7B%5CDelta&space;v%7D%7B%5CDelta&space;t%7D
https://www.codecogs.com/eqnedit.php?latex=%5Clarge&space;%5Coverline%7B%5Cvec%7Ba%7D%7D&space;=&space;%5Cfrac%7B100&space;km_%7B/h%7D%7D%7B14.5_%7Bs%7D%7D&space;%5Csimeq&space;6.89&space;km_%7B/h.s%7D
https://www.codecogs.com/eqnedit.php?latex=%5Clarge&space;6.89&space;*&space;%5Cfrac%7B96%7D%7B3600%7Dm/&space;_%7Bs%5E%7B2%7D%7D
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https://www.codecogs.com/eqnedit.php?latex=%5Clarge&space;%5Cfrac%7B96&space;km/h%7D%7B3&space;s%7D&space;=&space;32&space;km/h.s
https://www.codecogs.com/eqnedit.php?latex=%5Clarge&space;32&space;*&space;%5Cfrac%7B1000%7D%7B3600%7D&space;%5Csimeq&space;8.88&space;m/s%5E%7B2%7D

